Name:

December 30, 2019

MATHS WORKSHEET

Sr: 30122019-1212

11-PLUS
3.0
{-E}

1)  Incresse86by %,

2) (-62) + (-28)

SATS
GCSES

3) Find the percentage change from 9 to

18

Answer: Answer: Answer:
4) 25x 10 5) A number is chosen at random from 1 6) g+ 20
to 25. Find the probability of selecting
multiples of 7.
Answer: Answer: Answer:
7) 73 + (-53) 8) (5x9?) - (5x1?) 9)  What would you multiply by to
increase an amount by 15%?
Answer: Answer: Answer:

10) 'What isthe probability of rolling
factors of 4.when rolling adice

11)  13x 1000

12) Find the median of the following set of data:
10, 28, 36, 26, 40, 20

Answer: Answer: Answer:
13) 14) 'What isthe probability of rolling a 15) 27.4-66.8
20 _, Find Volume of Cone multiple of 3.when rolling adice
—p—
18
Answer: Answer: Answer:
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Sr: 30122019-1212
11-PLUS

MATHSWORKSHEET%‘ SATS

GENMERATOR

GCSES

Answer:

31,13, 36

Answer:

16) Simplify 15:20 17) (6x98)/(2x579) 18) Solve15x2-2x-2=0
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
19) Write 4 x 109 as anorma number. 20) Find the median of the following set of data:

Total: /20
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Name:

December 30, 2019

1) % 2)-90 3) 100%
8) 400 9) 1.15 10) ¥,
15)-39.4  16)3:4  17) 403563009375
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Sr: 30122019-1212

B 11-PLUS
MATHS WORKSHEET% SATS
GEMERATOR - GCSEE \
Answers:
4) 250 5) 30 6) 59/, 7)20
11) 13000 12) 31 13) 1696.4600329385 14) Yy
18)x = 0.4 0r-0.3 19) 4000000000 20) 13
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